' Text book Page no.57

1. Choose the proper fractions from the list of fractions below:

i

Ans: 2, b §
3 1 6

2. Write the improper fractions for each of the following:

@s ~® L (© 22 @ 17
4 6 10 5

3. Write the mixed numbers for each of the following:

@ 11 15 © 23 @31
3 6 5 . 4

4. Change the following improper fractions in to mixed numbers:

@] | (b) |
72=7+3=2R1=21 _9=9+5=1R4=1 4
3 3 5 5
© )
6=6+5=1R1=11 12 =12+7=1R5=15
5 5 7 ' 7
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5. Change the following mixed numbers in to improper fractions:

@31 - wxpan b1 2 = WxD+N
4 D 5 D
= 3x4+41 =] x5+2
4 5
- 1L+ ] =542
4 5
= 13 = 7
4 5
(©|23 = WxD+N |41 = WxD+N
9 D 3 D
= 2x5+3 =4x3+1
5 3
= 103 = 12+1
5 3
= 13 = 13
5 3
Text book Page no.60

1. Add these fractions. Leave your answer in the simplest form.

(@| L+1=2 b)| 1 +3 =4
3 3 3 15 5 5
©| 2+3=35 | 2+4=5¢
77 7 o 9 9
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2. Subtract these fractions. Leave your answer in the simplest form.
L
?;:_
5 A = 3
(a) 4 -1=3 (by |1- 1= 4 -1=2
S 5 3 4 4 4 4
© 6-1=5 @l 2= 8-4=8
7 7 7 8 8 8

3. Add the following fractions. Leave your answer in the simplest form.

2 +1 —
@i{3 6 (b) |3 +3
5 10
2 +1 = 2%3 + 1
3 6 3x2 6 3+3 = 3x2 + 3_
5 10 fx2 10
= a4 w1
6 6 = 6 + 3
10 10
= 3
6 = 9
10
|1 +3 @@| 1+1_ +2
4 8 2 6 6
d +d= 1xd * 3 1+1+2=1x3 +1 +2
4 8 4x2 8 2 6 6 2x3 6 6
= 2 * 3 = B+ 142
8 8 6 6 6
= 5 = 6=l
8 6
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4. Subtract the following fractions. Leave your answer in the simplest form.

1-1
@2 8 (b) |4- 3
5 10
d -1 1x4 - 1
2 8 2x4 8 \‘*ﬁ-2=415_2-3_
5 10 5x2 10
4 -1
g 8 = 8- 3
10 10
|
8 = 5
10
©|3 -5 @ |1- 1
i 8 3
3-5= 3x2 -5 1-1=3-1
4 8 4x2 8 3 3 3
6 - 5 = 2
8 8 3
1
8
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g .r in the simplest
5. Find the answer for each of the following. Leave your answet in th P

form.
1 *3
B¢ B (b) L + 2
9 3
J 8= JEKI + 5
4 8 4x2 8 1 +2= 1+ 2x3
9 3 9 3x3
B = L+ 6
9 9
= 1
8 .
9
(€)}1- 8 @ |2-3
7 5 10
1-6=1- 6 2-3= 2x2 - 3
77 7 5 10 5%x2 10
=l =é— -3—
b 10 10
= 1
10
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